Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -V (NEW) « EXAMINATION — SUMMER - 2018

Subject Code: 3351905 Date: 10-May-2018
Subject Name: Estimating, Costing and Engineering Contracting
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

ok whE

Q1 Answer any seven out of ten. €2HIll SlEURL Ulclall scllol WL
Define Costing and Contracting.

cULuAL AL SIRELDL, slztsglatl

Write the needs of B.E.P. in Industry.

o5 HL ol.8.Ul. ot GuoL Al

List the Cost Elements of Gas Cultting.

AL 52101 WRlell uesl Ul

AW WO N e

List any four different Forging Operations.

S8 ULl UR 1¥ToL ;U Let sl

List the four Pattern Allowances.

AR V2ol AcBA U cvil.

Define Approach and Over Travel (Over Run).

uAl AW AW, AR 2lad

Define Batch Overhead Time and Production Overhead Time.
UL AU B ARSES 218H, ULS5Aet M AES 2L8H
List any four Cost element of an Ice plant.

VBU Wello oll 5l URL AR WL uesl wuucl.

List any four types of Budget.

518 URL AR YUSIR oll wlwe sl

Define Contract and mention its characteristics.

Slopse ofl caltuall AUl Aol ctet@ sl seud.

© PG NW DL ooX

S B e

Q.2 Draw the Break Even Chart indicating Break Even Point.
Usl.? () a5 8ot AR Sl 531, Aol UR Als 8ol WS e2lldl,
OR

(@) Explain the effect of Total cost on Break Even Point.

(AU) A5 Scol WS UR 2led slke auRalldll ¥ vatsallll wuR AHestal.

(b)  With the help of Graphical method or Analytical method find the Breakeven
point where fixed cost is Rs. 10,000 and Variable cost per unit is Rs. 50 and
Selling price per unit is Rs. 120. The production rate of the company is 200
units.
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gl Heedl ¥ oAl As Sclot Weo2 AL BHL 222l W 3.
10,000 &l el Yld AsH U W 3. 50 B Wl yld AsH AUl

(5ud 3. 120 B. $Uolle] Geuleat 200 AsH B.
OR
The Labour Cost is Rs. 20/product & Material Cost is Rs. 30/product

of a Bearing Manufacturing company. Fixed Cost is Rs. 20,000 and
Variable cost is Rs. 75. Selling Price of the Bearing is Rs. 85/unit. Find
how many bearing should be manufactured in order to achieve No profit
No loss condition.

As AL Geules SUolloll HyIl Wl 3. 20/Ulsse Al HElRact vl
3. 30701552 B l dof a2l Wl 3. 20,000 8. UAA WA YA Aot
3. 75 8. Alolell Al (BHc 3. 85/A:5H B. ols ol§l ofslotoll
2RQ Al SUs{lA Sectl AZdNgf Gaulest $¢ B8A Asll oLzl 83

A bar having square section having 4 cm side and 30 cm length is to be

converted to a hexagonal section bar whose sides are of 2 cm respectively.
Find the length of Hexagonal bar. Assume Scale loss to be 7%.

As ARY UG Boll oy 4 A M. wa dowss 30 AHL B, A 8o
sloflotell Heeell MeslQlal Beall Allauml FactHl WA 8. Boll £35

oty 2 AL B. A weslla ulciausll cdous MUl BA AU 7% AL

OR
A 20 mm diameter and 100 mm length bar stock is to be converted to be
converted to a square section bar of 20 mm sides by drop forging. Find the
length of the bar assuming the scale loss to be 7%.

20 LMl staule ua 100 HlLMl dous R R&sal 20 HLAL.
ollyelloll ARYU ollRRlsHL S slsTotedll slattacliell B, Aol dous

AL WA WA AU 7% dWUAHL AL

State the different Forging Operations and explain any two of them.

el el SosToL AUt ofl aLEl AUl Sl uRl A UMl
OR

Giving the different Pattern Allowances explain any two of them.

Ueol AAGoU ofl 58 uel UR ALE]l Ul UHextal
List the different Cost elements of Arc Welding and explain any one of them.

LS ARl WAell 518 URL QL US| R A UHALAL.
OR

Write the any six factors affecting Arc Welding.
LS ARl WAl AUUR 5l 518 ULl 1 USlaell el
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An open tank of size 50x50x50 cm? is to be prepared whose welding length
comes to be 3.976 meter. Estimate the total labour cost and material cost.
(Welding is to be done from inner side only). Use the data given below.
(i) Electrode Consumption = 0.6 Hle:/xl22 Acslat

(ii) Fatigue Allowance = 5 %

(iii) Electrode wastage = 20 %

(iv) Labour cost = 3. 5/hour

(v) Electrode cost = Rs. 3/meter

As yedl 2isl & Bof HiU 50x50x50 AHL3 B ual Aeslatedl s 03
cAotes 3.976 HleR B. Al dal wlellaall Hi2all 1Rl W wal HRauA
VRl e 5LAl. (AL §5cl viEell wlyAy sclle] B. oA

AUUA (QotAlall GuadaL 53A:

(i) Bes2lsall aurlal = 0.6 Hle:/Hle? Aeslat

(i) $2loL AAGL = 5 %

(i) BAs2Se 6oUS = 20 %

(iv) M3l ellel = 3. 5/5CUS

(v) 8As2sall el = 3. 3/MleR

OR
A round plate of 1 meter diameter is to be cut from a plate of 20 mm 03
thickness. If cutting speed is 20 meter/hour and Oxygen consumption
rate is 4.2 m*/hour and acetylene consumption rate is 0.37 m*/hour
then find (1) Cutting time (2) Oxygen Consumption (3) Acetylene
consumption
As 0 HLl. sl w@euidll {IERsct A sélot ad 1 Hle: cauell 03
o e stualell B. ol selot ¥ls 20 Hl./scls sl wal W (sAesst
AUl € 4.2 UotHleR/scAls Mol ARRAAA cuRel €2 0.37
dotileR/sclls dla dl (1) stual Mol UM (2) Aot AUl

(3) AR At curatel(l Ll s

Find the Equation for Milling Time ‘T’ in Face milling if Cutter Diameter ‘D> 04
is more than width ‘W of the job.

U Hlelowl >R 522 stauHleR D’ ool uslous ‘W’ sl dlk 0¥
Al AR Hldlot atsH <12 Hizell a1td?l s

OR
Derive the equation for Milling Time ‘T’ in Plain Milling. 04

Qot ol Hlcllor et T2 oLl sall HiRell Yatoll oLl 0¥
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An Aluminium rod of 80 mm length and 50 mm diameter is to be turned to
40 mm diameter in two cuts. Cutting speed is 20 mt/min and feed is 0.10
mm/rev. Find the Time required for turning the rod.

80 Hl.M{l. clausaiou As slousik AR AaH AlAuell U 50
Ll ol 40 lall. Yell A seul wetsal 2ua B, sdlot ¥ls 20

e/ ua 8ls 0.10 Ll /RAcy2tet widl 2flol Wiz Al

UH2Le{l oLl 2.
OR

A hollow spindle’s diameter should be bored from 20 mm to 25 mm
diameter in single cut upto a length of 100 mm. If cutting speed is 22

meter/minute and feed is 0.02 cm/rev., find the time for boring the bar.

As Well Wloetal Aot 531 20 HL L. canniell 25 HlL Al caux As
seUl olollalcllell 8. oot 100 HLMl. GssHl sRclle] 8. %l s2lol
s 22 Hlex/Mbkle wa $ls 0.02 AL /aiel sl A oot Hizaill
AUl oLl 3.

Define the terms with respect to Forging.
(i) Shear Loss (ii) Tong Loss (iii) Sprue Loss

ool Meelnl ol Aotl UEL UM

(i) 2llaR AR (i) L A (i) Y AR

OR
Describe the method of finding Direct Material Cost in Foundry.

$IGGLHL slaRse HElRauct slre luclel ugld uxesal.

Derive the equation for Economic Batch Quantity.

88lollAs QA sl of Yot Al 53,

OR
Estimate the Time for a shaping a keyway of 40 cm length, 1 cm width and 5
cm depth for a machine of Cast Iron. Assume the data given below.
(i) Cutting speed for shaping = 10 meter/minute
(i) Feed = 0.08 cm/stroke
(iii) Depth of cut =0.25¢cm

512 wldolotl As Hllot wie 12 40 AL dous, 1 AHL. uslouy
dat 5 AL QS Acflonnl AU sall H2oll AM el oA Yosol
SRR

(i) AUloL Mzell s2lot lls = 10 Hle:/RlAe

(i) $ls = 0.08 AHL. /s

(iii) seoll G\sly = 0.25 AL

The Capacity of Thermal Power plant is 80 MW. The Load Factor of the
Power Plant is 40%. Find the cost of generating power/unit in Thermal Power
plant.
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Q.5
yau

(8)

(a)
()
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(¢)

(5)
(d)

(S)

As YA UaR Wlloz gAllRL 80 mw ofl HeTH SIHLes Y3l usla 8.

R Welloe ALS ¥522 40%. 3l A WaR wlled Yld yYlae wi
WELX.

List the four types of contract and explain any two.
sloglseoll AR YsLR wRlcl Aol 518 uel oLyl

Write short note on Security Bond.

R0 llos UR 25 olltl AWl

List the benefits of Profit Volume Graph and Profit Volume Ratio.
Ulge deyH Als wal W32 dleyi 206t Guol celdl.

List the Cost elements of an Ice Plant (Any Six)

BBU Wellozoll Well sl wRUA (518 UQL ).
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